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Use the diagram above to complete the statements and then provide a reason.

. U mLl=150°,then m£L2= =0  °. Reason: ~ Add Post

2. L= Y Reason: o rd cal L5 Thrm

3. Z6 is s%,a/ema.v.;/q..,j to Z7. Reason: Z AL, /Oa-sf.
4, fL3=Z4and L4=LT then £L_3 =L # .

P ol

Reason: Fan s, P:;r) e & 70

5. If £4 is complementary to £3 and £4 is complementary to £2,

then & D :’:\-43

Reason: = (’amfg le s ofs TA rm
6. If Z1 is supplementary to £6, then Z1 is supplementaryto £ & .
Reason: =z g w’p,()/ €se) ew/g Conyerse.

7. If BD L AC , then Z£3 is -"mv‘;(g_.-'?m,z,,/n/q to £ & .
-

Reason: Il 4, ox?t, e o"po? od;  Aepded ae L A A

¥
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Write a 2-colum proof for the following.
You may use more or less lines than the ones provided.
Given: mZl=mZ4+m”L5
Prove: £2=./3
Statements Reasons
. _mél=mlY Imdis & yen
20 Mg 4+l d = 190° L AL, Post
3. L2t LY o ml s = 1‘5’00 / Add /‘):57[
4. ﬂt’ Tl d = mdbd 3 tarsdy dend & ﬂaar‘;,Pr-;p,:')C’—"
5, ML A= ms B 54';-/“ /)h.p . ;-p,: (‘/— l\
7
6. L2 = L3 L)ff‘f'p 9'45'
7.
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Write a 2-colum proof for the following.
You may use more or less lines than the ones provided.
Given: £6= /7 and £5= /8
Prove: BD 1 AC
Statements Reasons
1. Zégé;zj 45';4'3' ./;h'ym.
-~ —>
2. _BE L AE ZE 2 hnes Borve T ad; L5 o # hies e L.
3. .._.g/l_Sc.‘( F‘/Z D(‘l‘tﬂr__l_
4. _£5 is a +f Z /ejh! Ls lmytrse i
— >

5. Ry L 4c ﬂ#r L
0.
7.




Write 2-column proofs for the following theorems. You many more or less lines than the ones provided.

Right Angles Converse Theorem If two angles are congruent and one of them is a
right angle, then the other one is a right angle.

Given: L1452 | /]| s rt. L

7

Prove: Z2 is 4 7+ £

Statements Reasons
L L1222, L) isa it L & iven
2 mll el b A TLs
3. mi | =977 0L oA +d £
4. mdd -’ Tiane Prep o F =
5._L2 isart 2 Dol X+t

Theorem: If two adjacent acute angles are complementary, then the exterior sides of
the angles are perpendicular.

Diagram
Given: _ L jciomp, le £ 2 A 1
Prove: W._L E_Z I
B8 d o
Statcments Reasons
1. £ s Lo, bz & ven
2l il T 99" 0o o oy, 25
3. L] S ons2 2 ul ARC L AAd . Pact
4 _m/AeC = 59° Ttree. Fop ot =
5 é—[,?_l_ 68 N .1 L ray$




